[9si= (Science) Blue Print
Class — IX
F.M = 80
. Each
%mt Unit Content Units No. (.)f question two
0. Question
marks
© 4 (a) B ST¥-9 & e 03 | 03x2=06
; % 3 (Matter ;{gur surrounzc%hng)?j 5
=% 8 | (b) T EAR ST D ACE g & 03 | 03x2=06
I g = E § (Is matter a@oud us pure?)
= (c) URHIT] Uq 3] _
% 2 f’g (Atoms and Molecules) 03 03x2=06
S £ (d) TRHTY] T
< —
= (Structure of Atom) 03 03x2=06
=32 (a) S @ Alcrd B 02 | 02x2=04
= O ~ (The Fundamental Unit of life)
CE ié (b) IT® (Tissues) 03 | 03x2=06
= o
I QZE5 |l i faiem | 03 | 03x2=06
Ol == & (Diversity in living Organisms)
mc%oév () & 4R T e &7 02 | 02x2=04
= (Why do we Fall ill?) re=
g (a) 7T &I U _
A § i (Describing Motion) 03 03x2=06
Jgs |Gym@wrG 03 | 03x2=06
111 g SIS (Force and Laws of Motion) -
= S = (c) @RV (Gravitation) 02 02x2=04
g g (d) BT 3R Sof (Work and Energy) 03 03x2=06
> (v) @M (Sound) 02 02x2=04
BOILOGY
Our _
v Environment | (a) Fﬂ?ﬁl‘c}? qUal (Natural Resources) 03 03x2=06
(06 Marks)
BOILOGY
Food, Food | (a) @&l G®MA H GER _
v Production | (Improvements in Food Resources) 02 02x2=04
(04 Marks)




SET -1
CLASS - IX
SCIENCE
g Ay

General Instructions :

(1) T e arfard 2|

All questions are compulsory.

(2) 39 U39 U9 H 40 U9 B 3R UId U I Adi I |

This question paper consists of 40 question and every question carries two marks.

(3) U® W & AR fdded AU 7U 2 " dhadd T SR Hel & | IR U= H IUYeh Tlel Pl

BT PR Tal SR Bl AT BIFTU |

Four options are given for each question out of which only one answer is correct. Choose

the correct option and indicate it by blackening the appropriate circle in the answer sheet.

01.

02.

03.

R BT S.IAEG B | (S.I unit of acceleration is.)

() MeX () (b) AR/ FDE (m/s) (c) HeR/Hh=s” (m/s”)

(d) #ex* / F (ms)

WA aEAl ¥ Ud I3 O BT § Wl SAd gRT 9d @l T8 g4 Bl HeRi
HRAT B | 39 9 B FEd € —

(a) AT (b) WISMIEY (c) TMHIEY  (d) 3T ¥ FIg el

Automobiles are fitted with a device that shows the distance traveled. Such a
device in known as

(a) Odometer (b) Speedometer (c) Thermometer (d) None of there
T4 9 $IF Tl © |

Which one is correct.

v+u

@ V=u+at (b)yV=u—ar (c) a= (d) vtu=ar




04.

0s.

06.

07.

08.

09.

10.

T AR &M & PGS I Fed @
() T (b) ST (c) I (d) T
The product of mass and velocity in called

(a) Momentum (b) Impulse (c) Force (d) Pressure
= # e Sew s B

() WP (D) IR () T4 (d) W]

Which of the following has more inertia:

(a) Bicycle (b) Car (c) Bus (d) Train

yid fohm & wWe va fauRa afafsan e 2 | I8 T a1 B A R E
@ % (b) Bl () T (@) T 8 P T

To every action, there is an equal and opposite reaction. Which law of

motion is this.

(a) First (b) Second (c) Third (d) None of there

Jed] & oA @R Bl A B

The value of acceleration due to gravity of the earth is .

()98 m/s®>  (b) 9.8 m/s* (¢) 0.98 m/s®> (d) 0.098 m/s*
ISl B Fag W (G 9% B 4R, Jedl BI Fqg W IqD IR BT fbha o
BT & |

Weight of an object on the moon is how many times that of ots weight on
the earth.

@6 ©5 © 2 (d)é
Y @ AT SR BN @ St dfed g 2
(a) Rerfost 91 (b) T SO (¢) S 911 (d) YIRS Sl

Which energy is stored in the stretched string on the bow.

(a) Potential Energy (b) Kinetic Energy (c) Heat Energy
(d) Chemical Energy

BT FH B X B T &
(a)Jli  (b) ARH  (c) 9 (d) T
The rate of doing work in called

(a) Energy (b) Power (c) Force (d) Pressure



11.

12.

13.

14.

15.

16.

17.

fepefy TR T AT AT BR (AT TG AT SHDT (e el &1 STGHT?
@ 3T (D) 3m  (c) AT (d) T g

What will be its kinetic energy when its velocity is doubled?
(a) Double (b) Half (¢) Four Times (d) One Forth
gy FT S.1 AFP ¢ |

(a) X (b) ECA () Hdbe (d) e

S.I. unit of frequency is —

(a) Meter (b) Hertz (c) Second (d) Newton

T | T AT (v), TR (1) T AN (n) & /9 FE e DA 2 |

Which one is the right relation among wave speed (v), wave length (A)
and frequency (n)

(@) v=nd (b) vz% (c)n=vA (d) A=vA

frefeiad § &9 el &7

()T (b) 38T (c) W (d) TSI W

Which of the following are matter?

(a) Smell (b) Cold (c) Love (d) Cold drink

f=fea 4 ga | I MiEd g7

(a) MR (b)TT  (c) T (d) My

Which of the following is fixed in liquid?

(a) Shape (b) Velocity (c) Density (d) Volume
fr=foriad # ®IF @uer T & w90 ¥ S SRMeE BT 8?
(a) Uiferex (b)) Ie® (o) |l (d) Riafes

Which of the following clothes are more comfortable during summer?
(a) Polyester (b) Silk (c) Cotton (d) Synthetics
frferiad 4 ®IF T 87

()8 (b) ARSI (c) THI () v

Which of the following is an element?

(a) Air (b) Oxygen (c) Water (d) Slat



18.

19.

20.

21.

22.

23.

24.

e fem § 3 Riere @ ugam o
(a) Bl (b) Tl WA (c) P (d) IY

Identify the solution among the following mixture :

(a) Soil (b) Sea-water (c) Coal (d) Air

fferRed o ®IF e y4ma &1 yafRid Hu?

(a) T96 & O (b) 3 (c) PR Febe Bl [qerd (d) I7° A Il 78l

Which of the following will show Tyndall effect?

(a) Salt Solution (b) Milk (c) Copper Sulphate solution (d) Non of these
1.8g H,O H 313l & |&T &°

(a) 6.022 x 10 (b) 6.022 x 10 x 1 (¢) 6.022 x 10*' (d) 6.022 x 10*

The number of molecules in 1.8g H,0 is?

(2) 6.022 x 10 (b) 6.022 x 10 x 1 (¢) 6.022 x 10** (d) 6.022 x 10*

5.85g Na cl fhei® &RTeR &7
@) LA (b) L@ () L A (d) 1 A
2 3 10
5.85g Na cl is equal to?
() %Mole (b) % Mole (c) % Mole (d) 1 Mole

DI A T b WA & $U H IR A &°
(a) BIgSIOM  (b) TRV () AT (d) TR

Which element exists as free atoms?

(a) Hydrogen (b) Oxygen (c) Argon (d) Chlorine
T o foreraT R et 7

() UM (b) 3eided (c) YEH  (d) a— B

Canal rays are a beam of ?

(a) Protons  (b) Electrons (c) Neutrons (d) « - particles

forefl Tca & URATT] H 18 S TG 17 WISH 8| Tcd BT WA GIHA BRI -
(@35 ((b)17 (c) 18 (d) 1

The atom of an element has 18 neutrons and 17 protons. The atomic mass



25.

26.

27.

28.

29.

30.

of the elements is :

@35 @17 (c) 18 @ 1

AIETH B FEI gerdg A fa=ard 79 H BT ?

(a)2,8 (b) 2,1,8 (¢) 8,2,1 (d)2,8,1

Which one of the following is a correct electronic configuration of
sodium?

(a)2,8 (b) 2,1,8 (¢) 8,2,1 (d)2,8,1

AT FT I BB & —

(a) da® (b) ARAAE () RRA®T (d) Bl

The suicidel bag is —

(a) Chloroplast (b) Lysosome (c) Vacuole (d) Nucleolus
PIRPT BT ‘TTaR BSH & —

(a) AISCIHISAT  (b) TMenll UG (¢) TdH  (d) ISaAH

‘Power House’ of a cell is —

(a) Mitochondrion (b) Golgi apparatus (c) Plastids (d) Ribosome

cored IR O © -

(a) STgeM ¥ (b) TA H () oY Iadi ¥ (d) URMT #
Tracheids are found in —

(a) Xylem (b) Phloem (c) Fatty tissues (d) Muscles
T B PR B d o e

(a) 3R BIRTHA WM (b) [T (c) IR (d) T

Found between the cells of parenchyma are —

(a) Intercellular spaces (b) Lignin (c) Suberin (d) Filaments

[P JHR & SqDi B [T & SR Ul H e god a3 87

(a) HIET Iqd  (b) U fawsdIad  (c) ARy fMAITd  (d) Sesad

By the activity of which type of tissues the annual rings of plants are
formed?

(a) conducting tissues (b) Lateral meristem (c) Apical meristem

(d) Sclerenehyma



31.

32.

33.

34.

35.

36.

37.

38.

ierdl 3R Hedl & b D UPfd Bl 8 —
(a) G (b) 3RTIE  (c) 3% (d) I

The nature of blood in birds and frogs is —

(a) Similar (b) Dissimilar (¢c) Warm (d) Cold

ST ST T T RIGRT g © -

(a) \EIerAT  (b) Uell @ () W (d) W)

The most developed group of animal kingdom is —

(a) Reptilia (b) Aves (c) Pisces (d) Mammals

Freerfed § ¥ form o ¥ YS! SO 7€ O W &2

(a) 928 (b) TEST (c) FGIA (d) AT

Which of the following animals does not have poisonous appendages?

(a) Scorpion (b) Hydra (c) Tortoise (d) Arthropoda
fsT RIT S FRaT € —

(a) oo AM1 (b) Pad  (c) AR (d) IAIfSTH

Sleeping sickness is caused by —

(a) Trypanosoma (b) Fungi (c) Virus (d) Plasmodium

HARIT BT IMTAED & —

() 7R (b) FWX () W] (d) Tl

The vector of malaria is —

(a) Housefly (b) Mosquito (c) Virus (d) Protozoa

A T gl Sl @ —

(2) @M HSd H  (c) 3 WS H  (c) WA Hed H (d) 918y Hed H
Ozone gas is found in —

(a) Troposphere (b) Ionosphere (c) Stratosphere (d) Exosphere
SARTIRYT HT el & —

(a) J2T IREA A (b) I ¥ () W A (d) Tl oG ¥
Overgrazing is related to —

(a) Soil erosion (b) Rains (c) Weathering (d) Water logging

Ul gRT | yaref dEdn § —

(2) g WRE (b)) IEM  (¢) Bl (d) FEEEST




39.

40.

Chemicals synthesized by plants are called as —

(a) Biochemicals (b) Rock (c) Fruit (d) Carbohydrate
U6 e 096 ad § —

(a) ST (b) AEEINH  (c) BRBRY  (d) UrelRrm

A micronutrient is —

(a) Zink (b) Nitrogen (c) Phosphorus (d) Potassium
T A SRP @ —

(a) FART (b) THARE  (c) IR (d) T @T”

A synthesized fertilizer is —

(a) Compost (b) Wormi compost (c¢) Urea (d) Green manure
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fagm (Science)
Class — IX
Set -1
(1) C (21) C
(2) a (22) C
(3) a (23) a
4) a (24) a
(5) d (25) a
(6) C (26) b
(7 b (27) a
(8) d (28) a
9) a (29) a
(10) b (30) d
(11) C (31) d
(12) b (32) d
(13) a (33) c
(14) d (34) a
(15) d (35) b
(16) C (36) c
17) b (37) a
(18) b (38) a
(19) C (39) a
(20) d (40) c




